



$\angle ABC = \theta$ とする。

$$AP_k^2 = \left(k \frac{a}{n}\right)^2 + c^2 - 2k \frac{a}{n} c \cos \theta = \frac{a^2}{n^2} k^2 - \frac{2ac \cos \theta}{n} k + c^2$$

$$\begin{aligned} AP_1^2 + AP_2^2 + \dots + AP_n^2 &= \frac{a^2}{n^2} \frac{1}{2} n(n+1)(2n+1) - \frac{2ac \cos \theta}{n} \frac{1}{2} n(n+1) + c^2 n \\ &= \frac{a^2}{6} \left(1 + \frac{1}{n}\right)(2n+1) - 2ac \cos \theta (n+1) + c^2 n \end{aligned}$$

$$\lim_{n \rightarrow \infty} \frac{1}{n} (AP_1^2 + AP_2^2 + \dots + AP_n^2) = \lim_{n \rightarrow \infty} \left\{ \frac{a^2}{6} \left(1 + \frac{1}{n}\right) \left(2 + \frac{1}{n}\right) - 2ac \cos \theta \left(1 + \frac{1}{n}\right) + c^2 \right\}$$

$$= \frac{a^2}{3} - 2ac \cos \theta + c^2 = \frac{1}{3} a^2 - \frac{1}{2} a^2 + \frac{1}{2} b^2 - \frac{1}{2} c^2 + c^2 = -\frac{1}{6} a^2 + \frac{1}{2} b^2 + \frac{1}{2} c^2$$

$$\ast: b^2 = a^2 + c^2 - 2ac \cos \theta. \quad ac \cos \theta = \frac{1}{2} a^2 - \frac{1}{2} b^2 + \frac{1}{2} c^2$$